[ number of missing inner layers |

1 - —| Entries 6025
E : : Mean 0.004149
r : . |Std Dev 0.06681
_1_ _:. M , h h I
10°E Tt T Entries 6682
F + | Mean 0.007034
C . |.std Dev 0.09045
-2 teeeefeioit..iiil..
10 3 + | Entries 6025
o : | Mean 0.004149
sl : |_Std Dev 0.06681
10°F .-.-.-..|
107 ;
) I S N
10°E :
01076....|....|... b b b by
= o
© o
m 3_—- -----------------------------
2k
o N H 3 1 N N N .
05 1 15 2 25 3 35 4 45 5

o)

[ number of missing outer layers |

1g - - —| Entries 6025
= : : + | Mean 1.875
: : 1 [std Dev 2,511
S L T [ - - I
10°E : : " Entries 6682
F : : Mean 1.962
L . . Std Dev 2.595
2L R T
10 E . + | Entries 6025
F ' ' Mean 1.875
3' N N N Std Dev 2.511
107 e S A Proeeeee IR
1074 SEREEREEEEREE R P CRRRRRRE
] I e, O R el
10 °E i :
v N I N I
100 3
2 : = : :
© F N N N
o 1 8 B ¥ 0 ) et
e -+ : :
o + : :
Jpnes : :
0 5 10 15 20 25

=== DQM_old
= DQM_wrong

mean hi

== DQM_V0001_R000000001__Global__ CMSSW_X Y _Z RECO

= 40p
7
pE bbb
(7 T R A A
S S S W
oof : : : : L
15]
o 10 L] !
e il
e
0.953 _'2 _.1 0 1 2 3

Entries 1634
.| Mean 1.972
Std Dev 5.587
: |
Entries 1634
Mean 1.972
Std Dev 5.587
: I
Entries 1634
Mean 1.972
Std Dev 5.587

1074 e |

10‘5E_— ---------- T DRI | DU ORI
910;6_ FEPEPETTTY BT n
g 0 5
o I :
J_ 1|-|an ------------
0.954 : : |

102

Entries 6025
Mean 14.05
Std Dev 5.908
-] Entries 6682
Mean 14.25
Std Dev 6.049
Entrie 6025
Mean 14.05
Std Dev 5.908

=
H

TTTTTTTTTT

10 15 20

[ N of reco track vs pT |

30 35 40
track hits

Entries 6599
Mean 1.19
Std Dev 2.45
""" T
Entries 7371
Mean 1.264
Std Dev 2.752
: T
Entries 6599
Mean 119
2.45

Std Dev
- -




	Contents
	Page 1


